BC Calculus – FDW 3rd Edition – Section 5.5 Even Answers

Quick Review 5.5

2. concave up   4. down   6. down   8. up   10. down
Section 5.5

2.(a) 2.75  (b) over  (c) 8/3   4.(a) .697  (b) over  (c) 
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  6.(a) 1.896  (b) under (c) 2

8. 97   10.(a) 26,360,000 ft3  (b) 988   12. .045 miles or .045(5280) 
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14.(a) 8/3  (b) 8/3   16.(a) .69325  (b) 
[image: image3.wmf]ln2.69315
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   18.(a) 2.00456  (b) 2

20. Averaging the discrete temperatures gives equal weight to the low-end temperatures. 

22. [image: image4.jpg]


 24. S50 = 1.08943, S100 = 3.14029  26. S50 = .82812, S100 = .82812
28.(a) S10 = 2.000109517, S100 = 2.000000011, S1000 = 2  (b) [image: image5.jpg]n E
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  (d) 
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30. 10.63 ft   32. False. They can be the same if the function is constant.   34. B   36. C

38.(a) 
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(c) 
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 (d) 
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40. Show each equal to: 
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Quic Quiz – Sections 5.4 – 5.5

2. D   4. (a)
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(b) 
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 is increasing when '()sin is positive.
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On the interval [0,3], this will occur when 
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 and also when 
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. Therefore 
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 increases over these 2 intervals.
(c) Average Rate of Change = 
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, so the integral equals 3k.

Chapter 5 – Review Exercises

2.  3.75 [image: image21.jpg]


  4.  3.75 [image: image22.jpg]


  6. 4   8. ln 5   10.(a)
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 (b) 4.9348
BC Calculus – Chapter 5 Review Exercises - Even Answers (continued)
12.(a) 
[image: image24.wmf]10

3

0

xdx

ò

  (b) 
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  (c) 
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  (d) 
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14. 2   16. 42   18. 16   20. 2   22. 1   24. 1   26. 2   28. 0   30. 
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   32. 
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34.(a) lower = 87.15 ft, upper = 103.05 ft  (b) 95.1 ft  26. 16/3  38.(a) 4/3  (b) 
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40. 
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   44. AV(I) = 4800 cases, avg cost = $192/day

46.(a) True (b) True (c) True (d) False (e) True (f) False (g) True

48. 
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  50. b, y = x2 + C and y(1) = 4, yields C = 3

52.(a) 6,144 ft  (b) 4,296 ft  (c) B

54.(a) 0  (b) -1  (c) 
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  (d) x = 1  (e) 
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56. 
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58.(a) 
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This is the total amount of water (in gallons) that flowed through the pipe.

     (b) 
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           there is a number, c, between 0 and 24 such that 
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(c) Average rate = 
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60.(a) 
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     (b) By the fundamental theorem of calculus, 
[image: image44.wmf]'(2)(2)1

gf

==

.

     (c) Since 
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 is positive on (-2,3) and negative on (3,4), the minimum value  
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 must occur at one of the endpoints. 
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 continuous on the closed interval, [-2,4].

          Comparing the two endpoint values from part (a), we see that 
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 is the 

          absolute minimum value.

(d) There is a point of inflection at x = 1, since 
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 changes from incr to decr. There 

is no concavity change at x = 2 and no inflection there.
_1275542333.unknown

_1275543235.unknown

_1275616364.unknown

_1275616844.unknown

_1275617195.unknown

_1275617275.unknown

_1275617341.unknown

_1275617432.unknown

_1275617252.unknown

_1275617055.unknown

_1275617112.unknown

_1275616985.unknown

_1275616702.unknown

_1275616763.unknown

_1275616576.unknown

_1275543460.unknown

_1275616277.unknown

_1275616318.unknown

_1275543580.unknown

_1275543368.unknown

_1275543426.unknown

_1275543250.unknown

_1275543060.unknown

_1275543137.unknown

_1275543179.unknown

_1275543102.unknown

_1275542843.unknown

_1275543036.unknown

_1275542411.unknown

_1275541286.unknown

_1275542179.unknown

_1275542285.unknown

_1275542309.unknown

_1275542232.unknown

_1275541349.unknown

_1275542067.unknown

_1275541333.unknown

_1275540814.unknown

_1275541102.unknown

_1275541213.unknown

_1275540972.unknown

_1275540037.unknown

_1275540132.unknown

_1275539914.unknown

